| Onderdelentekening

@EIBENSTOCK

Wijzigingen voorbehouden

ETR 400.2 P

A

Elektrowerkzeuge

04/23




EIBENSTOCK

10.098.98 - ETR 400.2 P

Elektrowerkzeuge
apr-23
Positie Artikel Artikelomschrijving Aantal Positie Artikel Artikelomschrijving Aantal
1 10.197.11  Anker ETR 400.2 P 1 St 40 10.205.14  Afstandsbus 2 1 St
2 10.197.12  Veldwikkeling ETR 400.2 P 1 St 41 10.203.66 Lager NK 20/16 1 St
3 10.205.03  Speciaalschroef Meplast M3x78 2 St 42 10.206.95 Hoofdastandwiel ETR 400 P 1 St
4 10.204.23 Motorhuis ETN162/3 1 St 43 10.203.68 Pakking ETR 350 (P) 1 St
5 10.204.25  Koolborstelkap ETN162/3 2 St 44 10.197.18  Cylinderschroef M6x20 Hex 3 St
6 10.204.35 Schroef PT 4 x 12 4 St 45 10.203.69 Hoofdas ETR 350 (P) 1 St
7 10.204.27  Koolborstelset ETN162/3 1 St 46 10.575.06  Lager 6005 - 2RS1 1 St
8 10.204.26  Koolborstelhouder ETN162/3 1 St 47 10.203.70  Zekeringsring voor as 25/1,2 1 St
9 10.201.38  Gegolfde veerring B4 4 St 48 10.202.36  As afdichting 20x35x7 1 St
10 10.202.02  Zelft. schroef CM4x12 (torx) 4 St 49 10.197.19  Klemschijf v kap ETR 400.2 P 1 St
11 10.203.54  Luchtgeleidering ETR 350 (P) 1 St 50 10.197.20  Lagermanchet v kap ETR 400.2P 1 St
12 10.805.72  Kogellagerkap (lager 6000) 1 St 51 10.203.72  Spanschijf ETR 350 P 2 St
13 10.197.13  Printplaat ETR-serie 1 St 52 10.197.21  Klemschroef ETR 400.2P 1 St
14 10.201.78  Schroef HC 4,2x13 2 St 53 10.197.23 Beschermkap ETR 400.2P 1 St
15 10.197.15 Handgreep ETRserie ergonomisch 1 St 54 10.211.71  Metaalschroef M5x16 verz kop 3 St
16 10.520 Trekontlastingsklem 1 St 55 10.197.26  Klemhendel M6x20 1 St
17 10.519 Kabeltule 23/2 1 St 57 10.197.27  Cylinderschroef M4x10 Hex 4 St
18 10.205.06  Schakelaar EMF serie 1 St 58 10.197.28  Zekeringsring S4 4 St
19 10.203.58  Aansluitsn. 2x1,5mm- 5m- PRCD 1 St 68 10.197.29  Blokkeerschroef M6x8x20 2 St
20 10.381.26  Ledhouder 2 St 69 10.197.30  Spatkap ETR 400.2 P 1 St
21 10.699.19  PT-schroef 5 x 30 Torx bol kop 2 St 70 10.203.89  PT-schroef 5 x 60 Torx Bol kop 3 St
22 10.204.32  PT-schroef 4 x 25 torx bol kop 3 St 71 12.340.00 Pensleutel voor spanmoer M14 1 St
24 10.203.59 Tandwielhuis groen ETR 350 (P) 1 St 72 10.203.97  Inbussleutel SW6 1 St
25 10.203.60 Naaldlager DL 1212 1 St 73 10.203.98 Inbussleutel SW3 1 St
26 10.201.03  Naaldlager DL 1012 1 St 74 10.203.90 Beugelgreep ETR 350 P 1 St
27 10.205.11 Afstandsbus 1 1 St 75 10.575.46  Sluitring 8,4 1 St
28 10.205.56 Drukveer 0,7x8,5x9x1,5 1 St 76 10.575.44  Veerring A8 1 St
29 10.205.13  Vergrendelpen 1 St 77 10.203.91  Metaalschr. M8x55 hex cyl. kop 1 St
30 10.203.61  Bevestigingsschijf 1 St 78 10.203.92  Rubbergreep tbv beugelgreep 1 St
31 10.203.30  Metaalschr. M5x25 hex cyl. kop 2 St 79 10.203.93  Sproeinippel v. waterslang ETR 1 St
32 10.205.89 Tandwielset tbv EMF 150.1 (N) 1 St 80 10.203.94 Moer G3/8" messing 1 St
33 10.239 Lager 6201 - 2RSH 1 St 81 10.203.95  Wateraansluitingslang kpl. 1 St
35 10.206.94  Tussenas ETR 400 P 1 St 84 10.200.66  O-Ring fiber 1/4" 1 St
36 10.525 Lager 6001 - 2RSH 1 St 85 10.220.26  Sluitring A13,5 1 St
37 10.381.19  Zekeringsring voor as 17/1 1 St 86 10.532 Lager 6000 - 2RS1 1 St
38 10.197.17  Tandwielhuisdeksel ETR 400.2 P 1 St 87 10.212.54  Asafdichting 10x14x1 1 St
39 10.200.14  Passtift 5Sm6x14 1 St 88 10.212.55 Magneetring 24x10x6 1 St

Wijzigingen voorbehouden




	10.098.98 - ETR_400.2_P_Version01
	10.098.98 - ETR 400.2 P



